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Q 1. Read the following paragraph and state the sentence which could be the best described as its topic sentence?
ANSWER 1) “Citizens have had to describe whether offenders such as first-degree murders should be killed in gas chamber, imprisoned for life, or rehabilitated and given a second chance in society.” 

Notice that this sentence clearly identifies that the key topic of the paragraph is punish serious criminal. It also indicates what the remainder of the paragraph will discuss: the difficulty of deciding the sentence of the criminal. The reader can then expect the rest of the paragraph to explain how and why the criminals should be punished or not.




Q3. Read the given paragraphs and state which one is more coherent and properly organized.
ANSWER 3) 
A) "There are three principal ...…naturally predisposed to commit crimes."                
This paragraphs more coherent than the other because, In this paragraph, the writer begins with the topic by telling us that there will 3 points to be expect in the further paragraph, and they were clearly stated. As a result, the paragraph is easy to understand.

Q4. Summarize the following paragraph. (100 words only).
ANSWER 4)
[bookmark: _GoBack]Buying things today is very simple. Just enter a shop lets a grocery, tell the shopkeeper its name and you’ll get it. Long ago, before the invention of money, how did people trade? The most primitive way of exchange should be the barter trade. . Hence, the Greek and Roman traders who bought goods from people faraway cities, invented checks to solve the problem. Not only are paper checks easy to carry around, they discouraged robbery as these checks can only be used by the person whose name is printed on the notes.



